
Rzędne niwelety nawierzchni projektowanej

p.p. 83,00 m n.p.m.
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Pochylenia

Kierunki

Odległości

Km, Hm

km
 0

+0
00

,0
0

P
oc

zą
te

k 
pr

oj
ek

to
w

an
eg

o
od

ci
nk

a 
ul

. J
. K

or
cz

ak
a

- k
ra

w
ęd

ź 
is

t. 
na

w
ie

rz
ch

ni
ul

. J
. M

at
ej

ki

0+100

Przekrój podłużny

 k
m

 0
+2

02
,3

0

K
on

ie
c 

pr
oj

ek
to

w
an

eg
o

od
ci

nk
a 

ul
. J

. K
or

cz
ak

a
S

kr
zy

żo
w

an
ie

 le
w

os
tro

nn
e

z 
ul

. K
. M

ak
us

zy
ńs

ki
eg

o

86
,9

2

8,
30

3,
75

6,
20

2,
30

86
,8

7

87
,9

3
88

,0
2

86
,5

7

33
,5

5
86

,4
4

41
,5

0
86

,7
5

63
,8

0
87

,6
3

81
,7

5
87

,8
1

21
,4

0
87

,9
0

49
,7

0
87

,2
2

54
,6

0
87

,0
9

91
,6

0
86

,8
3

K
an

al
iz

ac
ja

de
sz

cz
ow

a

K
an

al
iz

ac
ja

 d
es

zc
zo

w
a

K
an

al
iz

ac
ja

 d
es

zc
zo

w
a

K
an

al
iz

ac
ja

 d
es

zc
zo

w
a

S
kr

zy
żo

w
an

ie
 w

 p
ra

w
o 

z 
od

no
gą

A
l. 

S
ol

id
ar

no
śc

i
km

 0
+0

63
,8

0

km
 0

+1
06

,2
0

S
kr

zy
żo

w
an

ie
 w

 le
w

o 
z 

od
no

gą
ul

. J
. K

or
cz

ak
a

prosta

l=64,66m

prosta

l=90,65m

prosta

l=22,26m

64
,6

6

77
,7

5

71
,2

0

= 7°30', R = 100,00 mTg = 6,55 m,
          SW = 0,22 mPSK= 13,09 m

= 6°40', R = 100,00 mTg = 5,82 m,
          SW = 0,17 mPSK= 11,64 m
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